EARAROBREBRT —5 XN—ZXBISH—F

20235118148 (N 1701&&5E1H

L C 2 84 YSHR (s | memm - | g s s
[KE%E] 1 &:450,000F ~ 2%&:158,000H  337#%&:90,000M  43%&:68,000H ~ 53&:45,000 H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
115l | PRHYSFOTA 3 g@f}ﬁé 1:(38).5 4-4-5-3 1402 - 1| 502 EE;IAE; (BEE)
RYIAYI-R B:YIHYFIU— (-4) [fzEe]
» RYES s 3 | A9 L3 1:38.5 3-3-3-2 | 40.3| — 2 502 | WFPOE (BEE)
218(12 I?\J.H‘D_XjQJ_JS’ e 56.0 \F) @ | (B JPNEH
R:FA—XITAT«4 B:R—N-TU-X RER 5
~—5 st 3 | AEER 1:38.7 2-2-2-1 | 40.6| - 4 | 34 | REBEX (BEHEB)
3 8 J=9JU7 54.0 (3/4) ~ BHEE
] RVFVF(—Z BT "G #ea-mu-vaveess
algln| 724—v7F4—> 3 13%ft§ 1:(329).1 8-8-8-7 [40.2| — | 6 | 469 g;g/& (BERE)
RPYUF—THAF B:IS5YRNK—I S i A
= = s 3 | [EERE 1:39.2 5-5-4-6 | 40.9| — 8 | 434 |HBEX (LEE)
51719 L7473 54.0 (3/4) gy | LWOSRAER
RE—UR BT REFEILR/Y %8571
65|52/ ¥0 /25 4 3 z;%sﬁjc 1:(39).6 6-7-7-5 | 40.9| — 7 | 514 ’gggé (€]
. 2 - D5
R:IRTVFLY B:EIVI-ILR (-4) BR&EM KMEXT—TIL
S 4 3 | #1EE 1:39.6 7-6-6-9 | 41.0| — 3 456 | ROFE (BEE)
717]10 ff_’f/:ﬂ'jz’f?"f_ B . 56.0 F9%) © | B ) PN
RiXAY3aob LYY B:YISHAT—R BERAI Y
3 v 3 | RFAAE 1:39.6 9-10-10-11 | 40.4 | — 5 428 | T2 TR (BEE)
Loslrs o 5.0 %) © | @ JPNER
RO/ 7SIV B:HFYNRLT Foyige ]
AA4T= 1964 4 3 &ngﬁ 1:40.2 12-11-9-10 [ 41.1| - 9 511 EEE (BER)
— : (3) _
RFIPIIRATFUR #:70U7U7 (=3) ﬁ$§i’%
P—F W 4% 3 élgﬁogi 1:212(;.6 11-12-12-12| 40.8 | — 11 | 401 Z:E,%[S;uaé (BER)
RVIN—RF—k B:E2—FTOVE (S A
S A~ 4t 3 | DOEEFIME 1:41.4 10-9-11-8 | 42.1| — 12 | 431 |MZTEBE (ZaR)
e A 540 @ @y | (B PN
RiITSVIIALR B:RFSL—V FyIEFVRT7—1A
—1)—= $ 4 3 | ETE 1:41.5 1-1-1-4 | 43.5| — 10 451 | REBEXR (BEE)
O Gl a72) () |FaECE
RS/ v—0 B:IN)LR bk e
@ 11— —®BIEfI
10—+— 7,8,12,6,9,5,10,11,4,1,2,3
20—F— 7,8,12,6,9,10,5,11,1,4,3,2
30—7— 7,8,12,9,6,10,5,11,3,4,1,2
43— — 8,12,6,7,5,9,11,1,10,3,4,2
o ILRE
B B 6 370M4 JA R 6-12 390M4 % 5E 5-8 410M 3EE 6-8-12 2,590
7B B 6 150/ 6-8 460M 5 & 6-12 940 3EH 6-12-8 13,180
12 180H 8-12 950/ Ba 6-12 2,370
8 1604

ABIC OV TRUTEREERRODDZE. THRIIZEL.




